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1. (3 Pts) Calculate the pH of a solution that is 0.20M NHz(aq) and 0.35 M NH4Cl(aq).
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2. (3 Pts) What is the pH of a 0.014 M Ca(OH); solution?
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3. (3 Pts) A 1.5 L sample of a 0.44 M HBr solution is mixed with 2.2 L of a 0.080 M
HCIO4 solutlon What is the pH of the m1xture‘7
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4. (3 Pts) What is the pH of a 0.15 M solution of the weak base aniline (C¢HsNH»; Kp =
3.8 x 10719 -
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5. (2 Pts) What is the pH of 10.0 mL of 0.0020 M HCI?
ph = - Loy [o,oo.zoj =( u.70
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6. (2 Pts) Predict the direction in which the equilibrium will lie for the reaction
CsHsCOO™ + HF = C¢HsCOOH + F~.
Ko(CeHsCOOH) = 6.5 1075, Ko(HF) = 7.1 x 107,
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A) to the right P
0 the left
C) inthe middle

7. (3 Pts) What is the pH of a 0.11 M solution of C6H50H (Ka=13x10"%
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8. (3 Pts) Calculate the pH of a buffer solution that contains 0.25 M benzoic a01d
(CsHsCO,H) and 0.15M sodium benzoate (CsHsCOONa). [Ka = 6.5 x 107 for benzoic
acid]
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9. (3 Pts) Calculate the pH of a 0.055 M solution of CH3COONa (K.(CH3COOH) = 1.8 x

107)
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